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1. Simplify: (  )
2. that the statement (p ∨ q) ∧ (~p ∧ ~q) is a contradiction.
3. Find a value for sin     in the simplest surd form

4. Find the measures of the unknown sides x in the triangle below 
C


                                                           x
    12 cm                                                        
                                                                                 

                                                                                              A
              1060
                   B                           15 cm


5.Mbanda is four times as old as his son, and his daughter is five years younger than her brother. If the combined age amount to 73 years. Find the age of each person. 

6. The area of triangle is 75  and two of its sides are 20m and 15m .Find the included angle  
                                                                                                                    
7) Calculate, in cm to 3 significant figures, the length of the sides AB of triangle ABC in which                                                        
8. Demonstrate the following identities
  a)                                                                             
  b)                                                                  
9. a) 
       Find  	                                                                       
                                                                                          
                                                                                          
                                                                                          
b) Simplify the following identity
       
10.Using sine rule solve the triangle with the following measurements:
B = 38°, b = 5 m, C = 48°



11.A person standing on the bank of a river observes that the angle subtended by a tree on the opposite bank is 450. When he retreats 50 metres from the bank, he finds the angle to be 300. Find the breadth of the river and the height of the tree. 

12. Two cars start out at the same point. One car start out driving North at 25km/h. Two hours later the second car starts driving East at 20km/h. How long after the first car starts travelling does it take for the two cars to be 300km apart?                                        
13. An object with a mass of 2.5kg is placed on an inclined plane the angle of the inclined is 30 degrees. What are the parallel force and perpendicular force?                         

14.  Two vertical lamp posts of equal height  stand on the  side of the rood way which is 50 m wide .At  the point in the road way between   the lamp post are Find the  height of each lamp post and the position at the point                                                 

15. A town B is 13km south and 18km west of a tower A. Find the bearing and distances of B from A.
 16. A person standing on the ground is observing the top of a tree at a
distance 12m from the foot of the tree. If an angle of elevation of the top of the tree is
30°, find the height of the tree.                                                                                                                    

17.A person , standing on the bank of a river observes that the angle subtended by a tree on the opposite bank is ;when he retreats 40m from the bank, he finds the angle is to be . Find the height of the tree and the breadth of the river                                                                                                        

  

